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2 Chopping technique 
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3 One channel of ANose system 

 

: 
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q(n − 1) = (𝑉𝑠(n − 1) − Vagnd) ∙ (Cads1 + C𝑝1 −

C𝑛1)

q(n) = (𝑉𝑠(n) − Vagnd) ∙ (C𝑛1 − Cads1 − C𝑝1)   

 

q(n − 1) = (V𝑠(n − 1) − Vagnd) ∙ (C𝑛2 − Cads2 −

C𝑝2)

q(n) = (V𝑠(n) − Vagnd) ∙ (Cads2 + C𝑝2 − C𝑛2) 

Vin1 = Vsp − Vsn = 2 Vs =  ∆Vin  

Vin2 = −Vsn − Vsp = −2 Vs = −∆Vin   

|Vin1| = |Vin2| = ∆Vin 

[∆Vin ∙ (Cp1 + Cads1) − ∆Vin ∙ C𝑛1] + [(Voutn(n) −

Voutn(n − 1)) ∙ Cfb1] = 0 (8) 

Voutn(n) = Voutn(n − 1) 
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Voutp(n) = Voutp(n − 1) +
Cads1

Cfb2
∆Vin  

Voutn(n) = Voutn(n − 1) −
Cads2

Cfb1
∆Vin 

Voutdiff(n) = Voutdiff(n − 1) +  ∆Vin ∙
Cads1+Cads2

Cfb

∆Vin

ip ≅ (

Cads1
Cfb2

∆Vin

A
) ∙ gm1                           (12) 

: 

Ω

Voutp(t) = Voutp(0) +
ip ∙t

Cint2
=  Voutp(0) +

+
(

Cads1
Cfb2

∆Vin/A)∙gm1 ∙t

Cint2
               

ip = (

Cads1
Cfb2

∆Vin(t)

A
) ∙ gm1 +

Voff

2
∙ gm1
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𝑉𝑜𝑢𝑡𝑝 (𝑡) = 𝑉𝑜𝑢𝑡𝑝(0) +
𝐶𝑎𝑑𝑠1𝑔𝑚1∆𝑽𝒊𝒏 𝑡

𝐶𝑓𝑏2𝐶𝑖𝑛𝑡2𝐴
+

𝒗𝒐𝒇𝒇𝑔𝑚1𝑡

𝐶𝑖𝑛𝑡2

𝑉𝐷𝐶 =
𝐶𝑎𝑑𝑠1𝑔𝑚1∆𝑽𝒊𝒏

𝐶𝑓𝑏2𝐶𝑖𝑛𝑡2𝐴

𝑉𝐴𝐶 =
𝒗𝒐𝒇𝒇𝑔𝑚1

𝐶𝑖𝑛𝑡2

𝑉𝑜𝑢𝑡𝑝 (𝑡) = 𝑉𝑜𝑢𝑡𝑝(0) + 𝑉𝐷𝐶 + 𝑉𝐴𝐶
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3.1 Ripple reduction loop Vripple =
(Voffset∙ gm1)

(2∙fchop ∙Cint)
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Vsout_RMS =  
Vin

√2
∙

Cads

Cfb

Vndout_RMS =  Vndthin
(1 +

Cads+Cp+Cn

Cfb
)
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4 Simulation results 
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√

5 Conclusions 
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